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Date: —M—— Course: Pre-Calculus Pre AP (Master (Adjusted) Part 2

7 Course)

Use the graph shown to determine if the limit exists. If it b \\ o - \
. L
does, find its value. —

| JoxoA
lim f(x) g
| kb, =)

Select the correct choice below and fill in any answer boxes 2 =>4
in your choice.

5
OA. limf(x)= ‘ ‘ mﬁ

x—4 i/ 4 b3
O B. The limit does not exist.

>
>

ID: 14.1.19

Use a graphing utility to find the indicated limit rounded to two decimal places. 4% Since. &y\m NSO

r [x3+2x2+x+2] equa\S Zaro, Lo v
el

oz(dfvedomee) 0 sd(kaNaa (RedN

Select the correct choice below and fill in any answer boxes in your choice. }(.b él —'k-')} = % C#‘ _\_9\

e lim &M— = (Round to two decimal places.) ()( 1N (’{
X +2x3 -3x-6 3
(y\ _‘5W

x==2
Sub -2 ;\.\ i __é_ - =45

ID: 14.1.43 -2k 7 3 = \\

O B. The limit does not exist.

GaN=" '
Find the limit algebraically.

. ¥o00 N =\ Ko A
lim (9x+3)
iy - Q ("\\ T W L

Select the correct choice below and, if necessary, fill in the answer box within your choice.

OA. lim (9x+3)= g (Simplify your answer.)
X— =1 i

(O B. The limit does not exist.

ID: 14.2.15
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4. Find the limit algebraically. X 6@06\-5‘;0—\6 N -Qm—
lim 4 —2x+
st V-263)+s =T = 3 - .

Select the correct ch0|ce below and if necessary, fill in the answer box within your choice.

OA. im -\f -2x+3 = 3 i (Type an exact answer, using radicals as needed.)

x—-3

QO B. The limit does not exist.

ID: 14.2.23

5. Find the limit as x approaches c of the average rate of change of the following function from ¢ tQ x. & x \
>\

N o (Pea s - (R
C=0;f(x)=7x3+3x2+1 'c("\ Sy - [ FR23IR

A=\~
Ay | 3 * -0
Iim-—=
ID: 14.2.49 r
. - SUb o O yur
" 1Is f continuous at 4? Is f continuous at 4? N Ao
' 3+ 2]
QO Yes ‘
(4.3) | | '
1 *(2,3)
J /L @ oa% 4 Bere s o Wole
.10 -8 -Es- 6 ,
: 4
ID; 14.3.31

7. Determine whether fis continuous at c.

f(x)=5x> -8x% +x-2, c=5 Ao ) ':."\;l%

Is f continuous at ¢ =57

O No

Vien - 2% AOAN\DLR

ID; 14.3.45

20f8 4/1/2020, 11:11 AM

Scanned with CamScanner



Chapter 14 Review 2020 (Adjusted) Part 2-Joe Betters https://xlitemprod.pearsoncmg.com/a

8.

pi/vllprint/ma

Find the numbers at which f is continuous. At which numbers is f discontinuous? \ a _‘;é T\Q%O\,\‘.. e

)

...8 -
f(x)=—l:;(—? \an# O Condls
- Y AR . DA 1.« B - SR~ o W
Select the correct chonce below and, |f necessary, f llin the answ ur choice. CA ~ r\ c—\-

O A. The function f is continuous on the interval
(Type your answer in interval notation.) o

QO B. The function fis not continuous anywhere.

Select the correct choice below and, if necessary, fill in the hoice.

QO A. The function f is discontinuous on the interv
(Type your answer in interval notation.)

Q B. The function f is not discontinuous anywhere.

ID: 14.3.71

Find the derivative of f(x) = =2x+7 at =3. Thatis, find f(~3). AL 9\\«“-.\. o AerivaNi e

3" ( 3) = (Enterthe value as an mteger or reduced fraction.) Loy “_‘_

/53 5
-FN
ID: 14.4.
i =-2

10.

Instantaneous Rate of Change The volume V of a right circular cylinder of height 4 feet and radius r feet is
V=V(r= =4nr®. Find the instantaneous rate of change of the volume with respect to the radius ratr=1.

e e — bomd
(Leave ras a r answer. Do not use an approximation for the value of n.) ‘-\{@
ID: 14.4.43

11.

\
Refer to the figure. The interval [0,8] js partitioned into 4

DT
o\ Sor & RTCON = BV
Type the result below.
subintervals [0@ [2@[4 and [6(8)) Approximate the Area |:] square units
area under the graph of y =f(x) from 0 to 8 by using the
9(_(;(.?3*_@_ (‘-\\ A S;'(,(..\ -\"c'(g\\

right endpoint of each subinterval.

%—-—-—0:3\0\{5\'\'\

9(0\*‘-\“\-3-\-5\

2 0 2 4 6 8 10
f(0) =6, f(2) =9, f(4) =7, (6) =8, f(8)=5

ID: 14.5.7
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) |
The function f(x) = x? is defined on the interval [1, 5). !
(@) Graph f, indicating the area A under f from 1 to 5. ',

(b) 'Approximate the area A by partitioning [1, 5] into four
subintervals of equal length and choosing u as the left
endpoint of each subinterval.

(c) Approximate the area A by partitioning [1, 5] into eight

Part (a) Choose the graph off.

subintervals of equal length and choosing u as the left 141234568
endpoint of each subinterval. e
(d) Express the area A as an integral. O

(e) Use a graphing utility to approximate the integral.

[.\ 15& Q",;S

\ _:\-——._\QNS\\A\ B‘:\S&\‘S“‘S | 219123456

e\ Sl use 3,2,%,4 o
\ (%FC\B SR EEAS L'-\\\ | ' A
V(N QAN R*\Q:I’bo 1 211123456
a 6""\ A WV Y 5 Part (b) The approximate area under fis
'-%—_ = P \“5-\‘\“ [:’ :Sil > _5 [@:} (Round to four decimal places.)

2‘13 Y )
[J‘: 4 L & -5 Part (c) The approximate area under fis

E') y 1"’:5 Eq)"b 'L\‘B @ (Round to four decimal places.)

\ \
[_‘-\ ] “4 @ E‘ I}" é:) | Part (d) Choose the expression of A as an integral.

Vel 50 5 »
b5e. N, 15, 0. 05,5, 554 18 [s2ax
(S SEEEA LD T
* (3,84 SEDA S-S T
\ o
L(1+295+4r0as3ax 0T [ew
1
Vot 30.25) 0

_;51 (w) 2Ax

‘i Part (d) Use a graphing utility to approximate the integral.
) (Round to four decimal places.)

¥ Sea - B O

O N | 0—24
| O 4
O 156

E
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LA mfg= 1 ]
X—4

2.A. Ilim

xX— =2 Xt 42 -3x-6

X+ 22 +x+2 .
= (Round to two decimal places.)

3.A. lim (9x+3)= (Simplify your answer.)

x— =1

4. A lim y=-2x+3= 3 i (Type an exact answer, using radicals as needed.)

x—=+=3

5.0

6. No

7. Yes

8. A. The function f is continuous on the interval | (0,1)U(1,00) |(Type your answer in interval notation.)
A. The function f is discontinuous on the interval | (= 0,0]JU{1} |(Type your answer in interval notation.)

10. 8xn

11. 68
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12. A
30

g
- 123456

30

35.5
5

Ixz dx

1
41.3333
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